STAKE POCKET AND RAIL CLAMP LAYOUT (6302 & 6314) - PAGE 1
B - End 6302 A - End 6302

~ Centerline of stake pockets

(Typical D&RGW cast stake pocket)
40’ over the end sills

v
o 2-11 6-4" 9-9" i 13-2" 16°- 7" 20-0" i 20-0” 1 16°-7” 1 13-27 P 9-9 i 6-4" o2-1
. 2!_ 7!! J : 6!_ 10!!J 11 !_ 5!!‘5 1 5!_ 6!!* k: 20!_ 7!! ‘;‘ 19!_ 5” ;‘ 15!_ 6!!* :A 1 1 !_ 5!! :A 6!_ 11!! ;‘ 2!_ 7!! R
_|4-3 15-6" | 9-1” i 15- 6 T - SN
Truck bolster Needle beam Needle beam Truck bolster
) . * Rail clamps are angled
— Centerline of rail clamps to fit around needle beams
0o 1 2 4 6’ While the location of the stake pockets and the truck bolsters seems to be consistent from side to side and between the
U | | two cars, the location of the rail clamps varies somewhat, both between the cars and from side to side. All documented
measurements are shown here. Cars that no longer exist probably differed from these measurements to some extent.
A - End 6302 General sizes: All sills = 5"x9”, End beam = 6"x11”, Floor 2” thick, Rail 5” tall B - End 6302
2!- 67! k: 6!_ 10!!J 11!_ 4!L: 15Y_ 6!!*‘5 19Y_ 5 1/2!! ‘:A 20!- 6 1/2!! :A 15!_ 6!!* :A 1 1 !_ 5!! ;‘ 6!_ 10!! ;‘ 2!_ 6!! R
Needle beam Needle beam
B - End 6314 A -End 6314
y 2)_ 6" k: 5!_ 10”‘: 101_ 7”‘5 151_ 61!* k: 20!_ 5” ‘:A 19!_ 7” :A 15!_ 6”* :A 1 1 !_ 5” :A 61_ 11!! :A 21_ 71! -
Needle beam Needle beam
A -End 6314 B - End 6314
27 5o 10-4" 15- 6 | 20-5" | 19-7 | 15- 67" L 10- 10" L 5-11 N

Needle beam Needle beam



BOTTOM LAYOUT (6302 & 6314) - PAGE 2

1’-10” Break hanger (drops 5 1/2” below sill)
(typical D&RGW)

B-End 1ok bolster Needle beam Needle beam Truck bolster ™ ENA
(same bolster as stock car) (5" x 8" x7-2") (5" x 8" x7-2") (same bolster as stock car)
| 4-3 N 15-6" | ) | . 15-6" L. 4-3 N
Air line (15/8"0.D.)
» i Reservoir __s| » i
Break rod (3/4 dla.)jﬂ bleed lever Z ’/— Break rod (3/4” dia.)
ui AN
| Break wheel rod (3/4” dia.) — \\ [
| \N AN
Eﬁh — s, S, ta51/27 (centerline break cylinder)
Retainer for 6302 (3/4” O.D.) Retainer for 6314 2 . Same as narrow brake support
Brake chain roller , ” P > »
Lower brake staff support 2-1112 2-1/2 10172
Reservoir bleed lever ? 1 2| ?
This drawing shows the basic layout of the stake pockets and the rail clamps B - End
and is based on the 6302. Use the drawings on page 1 for actual dimensions.
The angled clamps show no pattern as to which way they actually go. A -End

The longer piece of rail is 33’-6” long. Splice is at B-end..

oo

26" to 30” x 1” notch cut in sill,

centered on bolster to clear the trucks

T 0

M g JL JL p__JL
BB I B
| | |
Truck bolster is the same X
as used on stock cars
| ' A |
| I |
Splice
| | |
Al l\ Bl Rl Fl Bl A
Wi n g

s
g



SIDE SILL AND RAIL CLAMP (6302) - PAGE 3

Note: If no plate was used, then
a cavity was cut in the underside

of the floor boards to clear clamp

Steel plate 2” x 77 x 3/8”
Note: Individual 1 1/2” washers
for each bolt also common

4:_31!

11/8” Bolt

Gap in deck

Stake pocket
typical D&RGW
casting

< Deck-2"x6"t012"x8-2" —>

- Side sill-5" x 9”
<.__
PE— Clamp - 1 1/4” Bolt

. ——————— Wood spacer- 1" x5 = (o

NEEDLE BEAM (6302)

Steel plate - 1 1/8" x 3" x 11”

Nut (both square and hex) 1 3/4” x 1”

2-7

4

5"x312"x1/2"
Plate used on some clamps

\4

23y N

AR,

N

L Truck bolster

Wood block 5" x 10" x 2’

x,//z ™

)/

36" 207 grab iron typical D&RGWJ

Metal tab (appears only
corner - purpose unknown)

End beam 6” x 11” x 8’-1"—

on uncoupling rod

5” x 9” Side sill
Clamp - 1 1/4” bolt

1” x 5” Wood
spacer

7/8"x4” x5
Steel spacer

1/4 x 4 x15”
Steel spacer

11/8"x3"x15”
Steel plate at
angle to miss
needle beam

7 3/4” Queen post
D&RGW typical

0 6" 12" 24"
1/2” x 3 1/2” x 5” steel plate | | | | _ .
used over needle beams Stirrup step typical DARGW
8 Overall Note: All sillsare 5x9”
5’ 12 1/2” 5” 1°-4” 5” 9 5 1°-4” 5 121/2” 5’
' | | :
Y/
— 31/2"x 3 31/47x 2 172" —
B 2’,7” N B 2 R
« p "L | 114 T4y | T g Y
Needle beam \
5 x8 x7-2"
51/2” 2,8 1, 10” 2,8 51/2” ‘




SIDE SILL CENTER (6314) - PAGE 4

Note: l l
The retainer is in this

gizrc.)ntherightside g @\ © o /3/‘@ '\ @/‘o o © © g
\

/H

L 3/8” x 3 1/2” x 1’-5” steel plate
Wood block 2 1/2” x 3 1/2” x 6 1/2" — (purpose unknown)
0 6” 12” 24" 36"
Originally there was a bolt in this hole also Center stake pocket | I I I |
left (break wheel) side
Wood block 2 1/2” x 3 1/2" x 4 1/2”
SIDE SILL, STIRRUP AND GRAB IRON (6314)
NEEDLE BEAM & RAIL CLAMP (6314) Gap in deck ’ 2-7" .
Stake pocket ., ., ,
« « e > casting Plate used on some clamps
5" x 9” Side sill
l * Clamp - 1 1/4” bolt ‘ l l
e l @ ©®
1” x 5” Wood A4 A4
spacer
m /\
2" thick continuation [ —— jj — I_ Y A— ]
g \() g of needle beam o o AN

\ 74 11/8"x3"x 15"
T Steel plate at
2 = angle to miss
= = needle beam Wood block 3” x 10” x 2’ 2"

Metal tab (appears only
\ on uncoupling rod
7 3/4” Queen post 20” grab iron typical D&RGW

"o Oy Q corner - purpose unknown)
Needle beam 5" x 9" x 8 D&RGW typical

with 5" x 7" notch cut in Stirrup step typical D&RGW End beam 6” x 11" x 8’ ——

both ends

I




END BEAM (6302) - PAGE 5

|: Deck 8-2” ;l
| j End Beam 8-1” R |
J 7 R 12” J 2'-6 1/2”‘| 3-101/2” k| Brake staff 1” dia. 12”
— ( 'l' Ratchet
assembly
91/2”

- A_I_LI_LI\ 51/4”
@ @ §@ 4: 8 1/4”

Q
@ I © 'K —
| o ‘
“—— Uncoupling lever 1” dia. F

A ¢ \ R )
Retainer typical D&RGW

often beveled

)
O
<
7 j
Note: Edges and corners

17" Grab iron typical D&RGW

End beam 6" x 11" x 8-1”
Lower brake staff casting typical D&RGW

Deck - 2" x 6” to 12" x 8’-2” (width varies)

Striker plate typical D&RGW Note: This eyelet counter

(stock or box car) sunk into deck both ends Steel plate washer (not always square)
approx 1 1/4” x 7" x 9” (size varies
Coupler lift bar hardware typical D&RGW PP ( )
_'/.\lg:' J
y — 1\

- JIEEIENI
© =Nl =" Q

@ ® @ ®

Y X Y

A

\\ Grab iron 5/8” dia.

0 6” 127 247 36" Break line 1 5/8” O.D.

4
A 4




END BEAM (6314) - PAGE 6

4

| Deck 8-2” R
| ) End Beam &’ . |
_61/2" (11172 2-6" | 3-10" | Brake staff 1” dia. 111/2”
Vl Ll
Ratchet assembly
o ( Gap cut in deck over end beam
4 (see detail for bolt pattern)
41/2”
v Ly _ .
F — — ¥
— | T I TII ||—_—I|D| | [Tl I = |
@ ) 9
7 g ) =
4 o G
o \ )

uter truss rods moved up this
end to clear brake casting

Uncoupling lever 1” dia.
Lower brake staff casting typical D&RGW

Striker plate typical D&RGW
(stock or box car)

Coupler lift bar hardware typical D&RGW

Note: Edges and corners j
often beveled
All 4 plates similar size and shape

These bolts often
covered by deck

End beam 6" x 11" x &

N
(w) (w)
< © ©

Deck - 2" x 6” to 12” x 8'-2” (width varies)

Steel plate washer (not always square)

/

Approx 1 1/4” x 77 x 9” (size varies)

Note: This eyelet mounted
on end beam

3” x 9” wood block partially
overlaps end beam

i_l T II [TI1 I /\/ v I
= [ 1
N A
N
© Y R J
A
A
) 11 1/2” 0 1-3 5/8” g \\ 1/2” steel plate-purpose unknown
0 6" 12” 24> 36” Break line 1 5/8” O.D.



COUPLER POCKET (6302 & 6314) - PAGE 7

BRAKE RATCHET

Deck Center sill Cavity cut in
deck to clear bolts
* -~ 32 1/4" 24" 2 11" 2 3/4”
y < < f—>
93/4 51/4” | 634 | A
— v e
8 3/4” -@ @_@ 6302
A 4
I |
1147 % / T
ol 2 L aa
351/2°1 347 21 1/2”
- Striker casting
Between truck bolster Carrier irons
and draft arm the height
of center sill increases Wood block nailed to sill
from 9” to 9 3/4”. to prevent nuts from unscrewing
6314
CENTER SILL SPLICES (6302 & 6314)
2" x 9" Both ends of center sill are oak, while the middle is fir.
\ There are 4 splices like this in the center sills.
© © @) (©) © |((©
|
le N
< | 6 " <
I I
© © @) (©) © [
Deck X 2'.9” >
N\
(©) () () @ (9
< (9) - <
@) = © ©) / @)

6’-8” to inside of end sill R

A

9'-5" to inside of end sill L Total length center section 25’-8”

11!!



TRUCK SIDE FRAME (6302 & 6314) - PAGE 8

Simplified drawing of truck side frame. At this time, this truck is not available in any scale.
The closest available is the 4’-8” reefer truck.

A 4

47
— le— 1% x31/2

16 3/8” | 55 T 1x3 12
)

+ Q@ + / 5/8 x 3 1/2’

A [ 1]

1 1/4"

4"8"

Y
4




